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4.2 S|ANEABLIE

® OAIEA™LIREMZ ot L 12|&0|= CHAID(Kass, 1980), CART(Breiman &, 1984),

ID3(Quinlan, 1986), C4.5(Quinlan, 1993), C5.0(Quinlan, 1998) S1t 0|9 A&
Crot L 2|F0| ULY,

— =
T8 €& 27 7|0 MEIES Q901H CH22| [H 4.1]2F 2Lt

[# 4.1] S[AFEZELIRE 8 E1E|F
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4.2 S|ANEABLIE

ORI 1 iris XIRE 0|010] QIARHLIR BAS SasiCt

> library(rpart)
> c <- rpart(Species ~., data=iris)

> C
n= 150
node), split, n, loss, yval, (yprob)
* denotes terminal node
1) root 150 100 setosa (0.3333 0.3333 0.3333)
2) Petal.Length< 2.45 50 0 setosa (1.0000 0.0000 0.0000) *
3) Petal.Length>=2.45 100 50 versicolor (0©.0000 ©.5000 0.5000)
6) Petal.Width< 1.75 54 5 versicolor (0.0000 0.9074 0.0925) *
7) Petal.Width>=1.75 46 1 virginica (©.0000 0.0217 0.9782) *
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4.2 QAIZHLIZ

> plot(c, compress=T, margin=0.3)

1.5)

> text(c, cex
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e predict() &5 0|80510] MZ2 Xt=0| Choll O S= +AetCt. 67|M= H
AEE t=E MY ZtE MAlRHCt.

> head(predict(c, newdata=iris, type="class"))
1 2 3 4 5 6

setosa setosa setosa setosa setosa setosa
Levels: setosa versicolor virginica

> tail(predict(c, newdata=iris, type="class"))

145 146 147 148 149 150
virginica virginica virginica virginica virginica virginica
Levels: setosa versicolor virginica
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® R I{3[X[ {rpart.plot}= 0|85t A

A OIC}

> library(rpart.plot)
> prp(c, type=4, extra =2)

£l OJA}
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4.2 S|ANEABLIE

® rpart() =% Zit= Ct32| YEE MS T,

> 1s(c)

[1] "call" "control™ "cptable”

[4] "frame" "functions" "method"

[7] "numresp" "ordered" "parms"

[10] "splits" "terms" "variable.importance"”
[13] "where" "y

® 0| 712L| $cptable2 EC|2| 2|0 [}E H|E-E& L E(cost-complexity parameter)&

X|26HH, WAEFEA @ XH(cross-validation error)S & M| 23tCt.

rpart.control()

I'II'

® O| 2t=2 prune() &

L==0f| A IFX[X|2|(pruning)2t E2|2| Z[CH 37|
(maximum size)& ZHSP|}et SNHOE A

IEEICt.
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2 WAEISERXAE XA S5t EBIE Fddtes
2ot st A1HE B (0] O 2= YERIT

> c$cptable

CP nsplit rel error xerror xstd
1 0.50 © 1.00 1.18 0.05017303393
2 0.44 1 0.50 0.80 0.06110100927
3 @0.01 2 0.06 0.09 0.02908607914

A4

opt <- which.min(c$cptablel[, "xerror"])

A4

cp <- c$cptable[opt, "CP"]

> prune.c <- prune(c, cp = cp)

A4

plot(prune.c)

A4

text(prune.c, use.n=T)

HOICEH 2| A= Q] rpart()E ==
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> plotcp(c)
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4.2 C|AFEHELIE

CrS2l [OA] 2]= TH21X| {party}e] ctree() =

= 0|801¢

OoOT =
ctree= “conditional inference tree"2| 2F0{0|LC}.
oAl 2 EM0| AFRE XIE = 146 MEM & 2tXto| Xt& (stagec)O|LCt, 7712 0| S H
HIHol Brg = (ploidy)E OS5 (E£= EF)etCt.

> library(party)
> data(stagec)

> str(stagec)
‘data.frame’:

$ pgtime : num
$ pgstat : int
$ age : int
$ eet : int
$ g2 :num
$ grade : int
$ gleason : int
FEOD $ ploidy

146 obs.

: Factor w/ 3 levels "diploid","tetraploid",..:

# stagec= {rpart}Ol|lA HZ2gt

of 8 variables:

6.1 9.4 5.2 3.21.94.85.87.3 3.7 15.9 ...
011100010 ...

64 62 59 62 64 69 75 71 73 64 ...
2122212222...

10.26 NA 9.99 3.57 22.56 ...
2332432333 ...

4 87 487 NA767 ...

131121...
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o [+32 2SS MHok= 1Pdo|Ct.

> stagecl<- subset(stagec, !is.na(g2))
> stagec2<- subset(stagecl, !is.na(gleason))
> stagec3<- subset(stagec2, !is.na(eet))

> str(stagec3)

o S0 MAHE 134912 X2 E 0|86t 2= Mottt RAxS flot 2HE A=
(training data)lt 2ol Hs2 ASo7|2Ict BSE Xt=E(test data)E 70%2t 30% 2

TSI

> set.seed(1234)
> ind <- sample(2, nrow(stagec3), replace=TRUE, prob=c(0.7, 0.3))
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Zoft

o S UHSD| Hof stagec XIS H A% HS 0310] = 2| $—Er Zgt training
:

(70%)2} test(30%) =2 RHE 11 HDO| XA S 2|6
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R R R
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[76] 11 21211111121111211121211111112
1111111111212112211222221111112111

> trainData <- stagec3[ind==1, ] # n=1027|
> testData <- stagec3[ind==2, ] # n=327|
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o 2HE Xf=(n=20)0f Cisl ctree()S MEet E2t= LSt 2T

rr

> tree <- ctree(ploidy ~ ., data=trainData)
> tree

> plot(tree)
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o X|ZL-CEo| 82X (barplot)= BFeHa(ploidy)<

e predict() +E S| 252 X120 ol HetzdE ™
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EoiH CHE1h £Ct.

> testPred = predict(tree, newdata=testData)

> table(testPred, testData$ploidy)
testPred diploid tetraploid aneuploid

diploid 17 %) 1
tetraploid 0 13 1
aneuploidy 0 %) %)
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Of [OfX| 3]2 ctree() 2f+& 0|80t EratH It HEHRI FALR QAZFLIR (2 FLF)

airquality Xt=0f| CHoH SIAMEFHLIR R H S Mot} HX B84 OzoneO| 2XQI X2 E

> airq <- subset(airquality, !is.na(Ozone))

> head(airq)
Ozone Solar.R Wind Temp Month Day

1 41 190 7.4 67 5 1
2 36 118 8.0 72 5 2
3 12 149 12.6 74 5 3
4 18 313 11.5 62 5 4
6 28 NA 14.9 66 5 6
7 23 299 8.6 65 5 7



> airct <- ctree(Ozone ~ ., data=airq)

> Airct

Conditional inference tree with 5 terminal nodes

Response: Ozone
Inputs: Solar.R, Wind, Temp, Month, Day
Number of observations: 116
1) Temp <= 82; criterion = 1, statistic = 56.086 # criterion=1-p3/OQ=E J|&3f O|M0|H FEab ~H
2) Wind <= 6.9; criterion = 0.998, statistic = 12.969 # 0|t HIEH 4 20| =2 HH
3)* weights = 10
2) Wind > 6.9

4) Temp <= 77; criterion = 0.997, statistic = 11.599
5)* weights = 48
4) Temp > 77
6)* weights = 21
1) Temp > 82
7) Wind <= 10.3; criterion = 0.997, statistic = 11.712

8)* weights = 30
7) Wind > 10.3
9)* weights = 7
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o XFLC(*2 EAE OC))7t 5012l EC| 2 S LIEHLE O|F Al2f=fotH CHE 1t

> plot(airct)
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> head(predict(airct, data=airq))

[1,]
[2,]
[3,]
[4,]
[5,]
[6,]

18.
18.
18.
18.
18.
18.

Ozone
47917
47917
47917
47917
47917
47917

K= 0f| CHet
=59 8

25}
—

Iéi predict() &=

20| MS-ZIL.
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K20t £ot= ol 2[5 20| e S S0t A S W= type="node” S92 AFE
> predict(airct, data=airq, type="node") # > where(airct)?| Z1}
et 52
[1]] 555555553555555555555556356996
(OISt Z4=k)
® 0|=z/= 0|80l HHMEZAE 1o1H Cta2f £t

> mean((airq$0zone - predict(airct))”2)
[1] 403.6668
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180l 22t H|2+H EH0|Ct

st 0f50]
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